: 3 {a) (1) Bl

(L
Bl
Bi
{1} (x B!
() Pumng candidate s exprezsion for feix) equal to 0 and uzing a
corect method to v and colve the rezultrg quadrancin v M1
y=da=a] (cao.) Al
=y (c.a0} Al
(B (1)
kiix) = Al
hivixy =
iy = {convincmag) Al
) B (x) = hix) Bl
€3-Jan13
T {a) Tiangrosoheeither 3v~4 Sor3x—-4 -5 M1
-4 -3=%>3
=g 25Dx o~ (ooth mequalinez} Al
Required rapge: x - ° 3 {ft ome hip) Al
Alternative mark schemne
.
{3x -4 35
(zquanng both s:des. foroung and nng to solve quadrane) M1

Cnneal valuezx=-"
1 5
Requiredrange:x - *301x 3

(&) (1)

v




C3—-May 13

¢

Concave down curve and|

1-coordipate of maximum = 4
y-¢coordmnate of maxumum = - |

Both ponts of intersection with x-axis

Bl
B1
Bl



C3 — Functions Homework (Due 09/03/16)
C3-Jan 06

{cahan

G e

C3~-May13

11. (a) {1) Difey= (0. —4] Bl
(11) Rifgy={-=.0] B1 Bl

(b) (1} felx)=~04 = tmx=e2* A1

=30 Al

(11) Equation has selutten onlv if k = R(JE)

choose anv k = R{f¥)

)

(ft cand:date’s R{f

Bl

oyt

C3-Jan 13

8 (a) y=2=lnidx+3

(%4l

An attempt to expres: candidate - equation 3% an exponental equation

AN &
= =2 = - E
X=ig -2 (1.t one 2iip il
4
fixy={e — - 11 one tlip} Al

14, (a) p= et Bl
An attempt to express equation as a loganthnue equation and to

1solate x e

{can) Al

(£t one shp i candidate's expression for x) Al

(b Dify=1[7. =) Bl Bl



